
 

Autumn has arrived and the leaves of this tree have changed into beautiful 

reds and golds. Answer the fraction questions to colour the leaves correctly. 

Find the answer: 

Simplify 
15

20
 

Colour it DARK RED 

Choose 2 fractions that 

multiply together to make 
1

8
 

Colour them BRIGHT RED 

Find the answer: 

1
1

3
 - 

4

6
 

Colour it YELLOW 

Find the fraction that 

is equivalent to  
2

5
 

Colour it BROWN 

Choose 2 fractions that add 

together to make 
4

5
 

Colour them ORANGE 

Choose 2 fractions that 

multiply together to make 
1

9
 

Colour them GOLD 

There will be 3 leaves left 

over. Colour them GREEN 

1

2
 

2

3
 

3

5
 

2

10
 

4

10
 3

4
 

1

3
 

1

3
 

1

4
 

5

9
 

1

8
 

4

5
 



 

DARK RED:   
15

20
 =   

3

4
 

BRIGHT RED:   
1

2
 𝑥 

1

4
=  

1

8
 

ORANGE:   
2

10
+ 

3

5
=  

4

5
 

GOLD:   
1

3
 𝑥 

1

3
=  

1

9
 

YELLOW:   1
1

3
 − 

4

6
=  

2

3
 

BROWN:   
2

5
 =  

4

10
 

GREEN: The remaining fractions are: 
4

5
   

5

9
   

1

8
 


